Chapter 2: Methodology

100 MCQs
1.

Whether they admit it or not, everybody is interested in the mind and behaviour. But which of the following is NOT the case?

A.

Anyone can be a psychologist just by being interested in the mind or in behaviour.

B.

Being interested in the mind or claiming that you are an expert is insufficient to make you a psychologist.

C.

There are lots of other experts, such as philosophers and anthropologists, who are interested in the study of mind and behaviour.

D.

What sets psychologists apart from other experts is their training in psychological methods.

2.

In which of the following jobs is research methods training important?

A.

Psychology

B.

Marketing

C.

Management

D.

All of the above

3.

Which of the following is an example of an unreliable outcome?

A.

Paying taxes after joining the workforce

B.

Buying a lottery ticket, and winning the lottery

C.

Snow in Alaska in the winter

D.

Receiving mail that is sent to you

4.

Which of the following is an example of a valid outcome?

A.

A car that drives 

B.

A scale always weighs five pounds too light

C.

A maths test to determine your general intelligence

D.

Studying undergraduates, when interested in lower to middle class men

5.

Which of the following is unimportant to good psychological research?

A.

It is made public

B.

It is cumulative

C.

It proves the hypothesis

D.

It is parsimonious

6.

Which of the following is true in relation to psychological methods?

A.

Psychological methods allow us to assess ideas with reference to shared and pre-determined criteria.

B.

Phrenology is a well-substantiated scientific methodology.

C.

The last hundred or so years of research in experimental psychology have not improved our ability to systematically assess the validity of psychological ideas such as phrenology.

D.

Psychological methods are completely different from general scientific methods.

7.

Which of the following is an INAPPROPRIATE reason for learning to use research methods and statistics in psychology?

A.

Because psychological research methods and statistics represent the only possible way of attempting to understand the human mind.

B.

To qualify as a psychologist.

C.

To use psychological knowledge in other fields.

D.

To apply psychology to issues that crop up in everyday life.

8.

Which of the following quotes BEST describes the importance of cumulative research?

A.

I came, I saw, I conquered

B.

If I have been able to see further than others it is because I have stood on the shoulders of giants

C.

The more things change the more they stay the same

D.

If you have knowledge, let others light their candles to it

9.

You wonder why Person A performs better on a test than Person B. Which of the following would NOT help you make a parsimonious explanation?

A.

Controlling for time of day  

B.

Asking participants about what they have eaten

C.

Requesting participants to avoid drugs beforehand

D.

Offering money to both participants afterwards

 10.

Which of the following is NOT something that scientific theories are capable of?

A.

Accounting for multiple facts

B.

Predicting what might happen in novel situations

C.

Being an unsubstantiated guess 

D.

Being tested empirically 

11.

Which of the following is true about the scientific method?

A.

It is a set of procedures for acquiring and testing knowledge through systematic observation or experimentation.

B.

It cannot be applied to complex systems.

C.

It can only be applied to findings recorded on a numerical scale.

D.

It provides information concerning validity but not reliability.

12.

True or False: Because scientific research is cumulative, it progresses simply through the accumulation of facts.

13.

Which of the following is NOT true in regards to hypotheses?

A.

Hypotheses are thought of before theories

B.

Hypotheses are statements of cause and effect

C.

Hypotheses are tested by experimentation

D.

Hypotheses test theories

14.

Which of the following statements are testable hypotheses?

A.

Absence makes the heart grow founder

B.

Many hands make light the work

C.

What percentage of people would administer a potentially lethal shock to another person when instructed to do so by an authority figure?

D.

All of the above

E.

None of the above

15.

Which of the following differentiates psychology from other sciences?

A.

Psychology uses the scientific method

B.

Psychology studies things that can not be directly observed, or measured

C.

Psychologists develop theories to explain integrated facts

D.

Psychologists use falsifiable hypotheses

16.

Which of the following is NOT the case when we talk about reliability and validity?

A. 

A reliable finding can nearly always be reproduced.

B.

A valid finding is a genuine finding (i.e. a finding that is what it purports to be).

C.

Disputed validity is one of the most common and thorny problems in psychological research.

D.

The fact that the validity of research is often questioned is regrettable.

17.

Which of the following relates to publication in a reputable scholarly journal?

A.

It makes the research more profitable.

B.

It makes the research more politically relevant.

C.

It makes the research more public.

D.

It makes the research more topical.

18.

Which of the following statements about cumulative research is FALSE?

A.

It builds on and extends existing knowledge and theory.

B.

It is usually sufficient to collect data in a random fashion.

C.

Research should build on previous insights in a given area.

D.

The cumulative nature of research is often revealed through literature reviews.

19. 

What makes research parsimonious?

A.

Developing theories that are as simple, economical and efficient as possible.

B.

Developing theories that appropriately parse the data.

C.

Conducting studies that use appropriate controls.

D.

Conducting studies that manipulate a number of variables simultaneously.

20.

True or False: Significant advances in technological development allow psychologists to directly observe and measure traditionally unobservable mental states.

21.

Which of the following applies to psychological measurement?

A.

Psychology is just like any other science in terms of what it can measure.

B.

Mental states and processes can be directly observed or measured.

C.

The fact that you cannot touch or see a mood, a thought, a disposition, a memory or an attitude creates measurement problems.

D.

Technological developments allow us to visualize mental activities themselves.

22.

Which of the following is NOT one of the measures developed by psychologists to help them examine mental processes and states?

A. 

Behavioural measures.

B.

Self-report measures.

C.

Physiological measures.

D.

Interval awareness measures.

23.

Which of the following is not a behavioural measure?

A.

Giving children a variety of toys to play with

B.

Observing who people sit next to on the bus

C.

Asking people who they voted for during an exit poll

D.

Allowing people to shock someone in the next room

24.

Which of the following is NOT a limitation of behavioural measures?

A.

Rating judgments by observers could be biased

B.

It can be time-consuming and expensive

C.

You can not control the environment that is being observed

D.

The use of deception raises potential ethical questions

25.

Which of the following is NOT a benefit of behavioural measures?

A.

Behavioural measures are adept at differentiating among many motives

B.

Researchers can look at behaviour in a natural environment

C.

You can place participants in a totally controlled environment

D.

Behavioural measures can be unobtrusive

26.

Which of the following is NOT a limitation of self-report measures?

A.

Self reports are invasive and make it difficult to guarantee anonymity

B.

Self-report measures can not be used with people who are unable to report

C.

People lie

D.

People may be unaware of why they did something

27.

Which of the following is NOT a benefit of self-reports?

A.

Self-reports can be convenient and inexpensive to use

B.

Self-reports are generally novel and interesting to participants

C.

Self-reports can be administered to large amounts of people

D.

Self-reports can be easily tested for validity and reliability

28.

Which of the following is NOT a self-report measure?

A.

How would you describe your child? ____________________________________________

B.

At 6 p.m. weekdays, how often do you watch BBC1?

□ Nearly everyday     □ Once a week     □ Less than once a month     □ Never

C.

Do not think of white polar bears as you perform the following math problems.

2 + 7 = _____    3 X 6 = _____   6/2 = _____   10-8 = _____

D.

Divorce is disgraceful.

Strongly agree     1     2     3     4     5     6     7     8     9     Strongly disagree

29.

Which of the following is NOT a physiological measure?

A.

Examining galvanic skin response

B.

Observing pupil dilation

C.

Measuring heart rate

D.

Activating neural brain structure

30.

Which of the following is NOT a limitation of physiological measures?

A.

Physiological measures are expensive and require a great deal of training

B.

Physiological measures generally require complicated equipment

C.

Physiological measurements usually need to be conducted in a lab

D.

Physiological measures are often invasive and may involve surgery

31.

Which of the following is a benefit of physiological measures?

A.

Physiological outcomes are very difficult to control or be consciously aware of by participants

B.

Participants are comfortable with physiological measures

C.

Explanations for physiological outcomes are obviously valid

D.

They are simple to administer to many participants

32.

If you wanted to know which toys children like, what type of measure would you use?

A.

Behavioural Measure

B.

Self-report Measure

C.

Physiological Measure

D.

All of the above

33. 

Decisions about which measures to use in a particular study will be determined by a number of factors, but EXCLUDING:  (please highlight all incorrect answers)

A.

Availability.

B.

Cost.

C.

The name of the participant.

D.

The particular research question being addressed.

34.

Which of the following is an example of an experimental design?

A.

A researcher has students rate their favourite classes and compares these ratings to their grades

B.

A researcher examines a group of people with a very rare case of brain damage

C.

A researcher exposes half of the participants to memory training and then has all of the participants complete memory tasks

D.

A researcher studies gender differences in toys

35.

Which of the following is true of the experimental method?

A.

Participants are able to respond only in the presence of the experimental manipulation.

B.

Experimental control is used to make all conditions identical in every respect.

C.

Different people must be used in all conditions.

D.

It involves attempts to control for relevant variables, typically by manipulating relevant variables across conditions.

36.

Which of the following is NOT true in the experimental method:

A.

The various levels of treatment in an experiment (including the control) are referred to as conditions.

B.

The two basic experimental designs are known as the between-subjects design and the within-subjects design.

C.

The different conditions in the experiment make up the independent variable.

D.

Experiments cannot have more than one independent variable.
37.
True or false: A control group is distinct from the experimental group because it receives a different treatment.

38.

Which of the following is an example of an experimental group and a control group?

A.

Boys are given trucks and girls are given dolls

B.

50 students are given an electric shock and 50 students are given ice-cream

C.

Half of the participants receive £1 and the other half do not receive £1

D.

10 participants are awarded and 10 participants are punished

39.

True or False: In a between-subjects design the control group and the experimental group are comprised of different people.

40.

Which of the following is NOT an example of a between-subjects design?

A.

Children are given sweets when they behave and time-out when they misbehave

B.

Half of the participants are given information about safe sex and the other half are told about abstinence

C.

Participants randomly are shown either scary movies or documentaries

D.

Students take either woodwork or home economics

41.

Which of the following is NOT an example of a within-subjects design?

A.

A group of participants report their health at time one, and follow a treatment at time two

B.

Students at a private school rate how much they like two different groups

C.

All participants are exposed to two different tones to compare the effects on heart rate

D.

Participants randomly receive either positive or negative tests scores, and then asked to fill out a measure on self-esteem

42.

Which of the following is NOT an independent variable?

A.

Different dosages of a drug

B.

Evaluation of two different groups

C.

Memory training

D.

The acceleration of a vehicle

43.

Which of the following is NOT a dependent variable?

A.

Background music in a shop

B.

Symptoms of a disease

C.

Evaluation of toys

D.

Self-esteem measure

44.

Which of the following is an example of random assignment?

A.

Choosing by eye colour

B.

Assigning by last name

C.

Picking names out of a hat

D.

Dividing by gender

45. 

Which of the following does NOT apply to the quasi-experimental method?

A.

In quasi-experimental studies the independent variable is manipulated.

B.

This method can be used to compare the responses of groups of people with different ages or of different genders.

C.

The quasi-experimental method has features in common with survey methodology.

D.

In practice, this approach is often conducted in conjunction with the experimental method.

46.

Which of the following is NOT an example of a quasi-experimental design?

A.

Blindfolded taste tests

B.

Comparing the final overall grades for psychology majors versus maths majors

C.

Studying a workforce that meets all regulations for air quality, cleanliness, etc.

D.

Giving some students extra homework based on a failure to understand the class material

47.

Which of the following is FALSE when applied to the survey (or correlational) method?

A.

The survey method can identify naturally occurring patterns of variables.

B.

The survey method can explain naturally occurring patterns of variables.

C.

Surveys rely on methodologies that identify relationships between variables.

D.

Surveys do not allow us to make conclusive causal inferences.

48.

 True or False: People who travel abroad report more loving feelings for their partner than people who stay home. This shows that absence makes the heart grow fonder.

49.

Which of the following is NOT a case study?

A. 

Researchers study a ‘wild child’ that grew up without any adult supervision

B.

Examining the verbal complexity of television shows

C.

Dropping a piece of lead and a feather to test velocity 

D.

Participants with a rare brain disorder are presented with different pictures to test spatial ability

50.

Which of the following applies to the research study of particular individuals who are manifesting a very rare condition?

A.

In practice these individuals cannot be studied.

B.

One simply has to wait for a large number of such individuals to present themselves.

C.

Researchers often use the case study method.

D.

The case study method involves intensive analysis of a very large sample.

51.

Which of the following statements is accurate?

A.

Qualitative techniques are very similar to quantitative techniques.

B.

Qualitative techniques are not used by psychologists who challenge conventional approaches to psychological research.

C.

All psychologists agree that conventional methods are sufficient for addressing the richness and complexity of human behaviour.

D.

Qualitative methods are not compatible with a critical approach to psychological research.

52.

Which of the following is NOT a form of qualitative methodology?

A.

Collecting observations

B.

Grouping observations

C.

Coding observations

D.

Assigning numbers to observations

53.

Which of the following is NOT an example of a qualitative result?

A.

Women are uncomfortable discussing their sexual history when they have had many partners

B.

Footballers often come to games with their friends and not their spouses

C.

People who are geniuses generally score well over 100 on an IQ test

D.

People are generally friendly

54.

Why is it important to use a variety of research methods to answer a hypothesis?

A.

Every method has its limitations and triangulation is needed to increase confidence in an answer

B.

Because not everybody can afford to do more expensive research

C.

Not every hypothesis can be answered with the rigours of the experimental method

D.

None of the above, experimental methods are the most accurate and best 

55. 

Which of the following is true regarding surveys and experiments?

A.

Experiments cannot be conducted outside laboratories.

B.

Surveys cannot be conducted in laboratories.

C.

The main differences between experiments and surveys relate to the sorts of questions that each can answer.

D.

All of the above.

56.

Which of the following is FALSE?

A.

Surveys never allow researchers to eliminate causal links.

B.

Researchers who use surveys often use the sample being studied to estimate the characteristics of the population they are interested in.

C.

Sometimes researchers are only interested in observing relationships.

D.

Sometimes manipulation of variables is not possible.

57.

Which of the following is NOT the case?

A.

In view of the potential limitations of any one method, many researchers consider using multiple research methods to explore the same issue in many different ways.

B.

If consistent results are obtained from a variety of different methods, this will tend to justify greater confidence in the findings.

C.

The fact that a researcher has a lot of methodological choices to make indicates that they have a limited understanding of research methodology.

D.

The challenge researchers face is to exploit each method appropriately.

58.

True or False: A manipulation check of a self-esteem survey may be to ask participants the question “How high is your self-esteem?”

59.

Which of the following statements is FALSE when manipulating an independent variable in an experiment?

A.

The independent variable should be theoretically interesting.

B.

The theoretical variable must be manipulated directly.

C.

Researchers usually manipulate an independent variable that they believe will have a specific impact upon a given mental process.

D.

To ensure that the manipulation of an independent variable has been successful, researchers often administer a manipulation check

60. 

Which of the following statements are correct when it comes to deciding what to measure? (Please highlight all correct answers.)

A.

The selection of dependent variables is rarely complicated by practical constraints.

B.

The selection of dependent variables can be influenced by a consideration of what is illegal and/or irresponsible.

C.

We have to select dependent variables that are relevant to the outcome that we have in mind.

D.

We have to select dependent variables that are sensitive to the independent variable.

61. 

Which of the following is correct in relation to S. S. Stevens’ four types of data? 

A.

Nominal measures can be categorized but not compared numerically.

B.

Ordinal measures cannot be ranked.

C.

Interval measures have a true zero point.

D.

Ratio measures are full numerical measures without a true zero point.

62.

Which of the following is NOT nominal data?

A.

Private, Sergeant, Corporal, Lieutenant, Colonel, Major, General

B.

Boys and girls

C.

United States of America, United Kingdom, Uganda, Ukraine, United Arab Emirates 

D.

Neuroticism, Extraversion, Agreeableness, Conscientiousness, Openness to Experience

63.

Which of the following is NOT ordinal data?

A.

Gold, Silver, Bronze

B.

-15 C, 0 C, 15 C

C.

Low stress, moderate stress, high stress

D.

Google search results

64.

Which of the following is NOT interval data?

A.

Intelligence tests

B.

The New Year

C.

Number of years in school

D.

Temperature measured in C or F

65.

Which of the following is NOT ratio data?

A.

Age

B.

Length of residence

C.

Number of church attendances in a month

D.

Attitude Scale

66.

Interested in the effect of crowding, a researcher puts 50 people in a crowded room and 50 people in an open field. The people are asked how they feel. What is the possible confound in this experiment?

A.

People are placed in a room

B.

People in the room overheated

C.

People are asked how they feel

D.

None of the above, this is a well thought-out experiment

67.

A researcher conducts all of his studies in a lab. What does this most threaten?

A.

Internal validity

B.

Central tendency

C.

External validity

D.

Reliability

68.

True or False: If you find good internal and external validity you should be confident about you results and not worry about anything else.

69.

Which of the following statements about internal and external validity is FALSE?

A.

We can be confident about the results of psychological research when the methods are valid.

B.

An experiment is said to have internal validity when we are confident that the results have occurred for the reasons we have hypothesized, and we can rule out alternative explanations of them.

C.

An experimental confound is an unintended manipulation of a dependent variable.

D.

A study has a high level of external validity when there are no reasons to doubt that the effects obtained would occur again outside the research setting.

70.

Which of the following is NOT true of samples and populations?

A.

A population is a set of people, things or events that we are interested in because we wish to draw some conclusion about them.

B.

A population could consist of all people, or all people with schizophrenia, or all right-handed people, or even just a single person.

C.

A sample is a set selected from the population of interest and can never be used to make an inference about the population as a whole.

D.

A sample would normally be a group of people selected from a larger group, but it could also be a sample of behaviour from one person, or even a sample of neurons from a region of the brain

71. 

Identify the TWO correct statements about generalizing results:

A.

Although psychologists often spend a lot of time studying the behaviour of samples, most of the time they want to generalize their results to say something about a whole population.

B.

Inferential statistics allow researchers to quantify the probability that the findings are caused by a ‘real’ effect or process rather than random influences.

C.

The more times we toss a coin, the less certain we can be that around about 50 per cent of the tosses will come up heads.

D.

Inferential statistics allow us to make statements about underlying populations based on detailed knowledge of the sample we study and the nature of random processes.

72.
Which of the following is NOT a reason why a random sample is important?

A.

It allows you to generalize to a broader population

B.

The sample will be completely representative of the population

C.

Every possible sample in a given population has an equal chance to be chosen

D.

The sample is similar to the population on important characteristics

73.

Which of the following is NOT a descriptive statistic?

A.

Mean

B.

Mode

C.

Standard deviation

D.

Correlation

74.

Which of the following would describe the average height of men?

A.

Median

B.

Mean

C.

Mode

D.

Range

75.

If you were interested in learning which person has the most typical salary, how would you compute it?

A.

Mode

B.

Standard deviation

C.

Median

D.

Variance

76.

Your professor tells you that the most common grade in class was a 58, what did he use to calculate this?

A.

Range

B.

Variance

C.

Median

D.

Mode

.

77.

True or False: If a choreographer was interested in how much her dancers differ in height from the lead dancer she would use a measure of dispersion.

78.

Which of the following is False in regards to the standard deviation?

A.

It tells us if scores are normally distributed.

B.

It is the square-root of the variance

C.

It tells us a lot more about a distribution than the range.

D.

It is measured in different units than the values of the population

79.

If we have a large random sample in a study of intelligence, what does this tell us if we know the mean is 100?

A.

50% of the sample will score higher than 100

B.

50% of the sample will score 100

C.

25% of the sample will score lower than 100

D.

60% of the sample will score higher than 100

80.

Which numerical technique estimates the probability that a random sample yields similar results as the population?

A.

Standard deviation

B.

Normal Distribution

C.

Inferential Statistics

D.

Statistical significance

81.

A normal distribution is a ____.

A.

Symmetrical bell-shaped spread centred over the mean

B.

Isosceles triangle-shaped spread centred over the mean

C.

Isosceles triangle-shaped spread centred over the median

D.

Large half-circle-shaped spread centred over the mean

82.

Inferential statistics contain an information term and error term and are expressed as a ratio of each other. Which of the following is NOT true?

A.

A high value suggests something is occurring because there is more information than error

B.

A low value suggests nothing is occurring because there is less information than error

C.

A high value suggests nothing is occurring because there is less information than error

D.

None of the above, I do not have enough information to determine if something is happening

83.

According to the law of large numbers if we find a small class where all the students score well above the mean in IQ scores, what should we NOT assume?

A.

More intelligent students were assigned to the class by the school

B.

Other schools in this area will have the same scores

C.

Education funding is very good for this school

D.

Parents of these students read to them a lot

84. 
Imagine a memory training study, in which one group of participants in an experimental condition experience a new training method and another group in a control condition do not, and then both groups take a memory test. Common sense tells us that we are likely to get two sets of memory scores – one for the experimental condition, one for the control – with different means. But which of the following is NOT true when deciding whether the difference is big enough to be meaningful?

A.

Appropriate statistical procedures allow us to decide how likely it is that this difference could occur by chance alone.

B.

If a chance likelihood is sufficiently low (typically less than 19 in 20, or 95 per cent), we would reject the null hypothesis (expressed as H0) that there is no difference between the means and that the manipulation of the independent variable has had no effect.

C.

While statistical tests can never tell us whether our results are due to chance, they can guide us in judging whether chance is a plausible explanation.

D.

A large t or F statistic means there is a small probability that a difference as big as the one we have obtained could have occurred by randomly selecting two groups from the same population (i.e. it is not likely that the difference is due to chance).

85.

Which of the following statements about significance testing is TRUE?

A.

Significance tests tell us whether or not our results are due to chance

B.

If a result is significant we accept the null hypothesis

C.

Significant tests tell us if there is any important difference between the means

D.

A test is significant if it is greater the 95%

86.

True or False: When conducting an experiment we assume that the null hypothesis is true until shown otherwise.

87.

Which of the following is NOT a statistic for comparing means?

A.

t-test

B.

SD (standard deviation)

C.

F-test

D.

p (significance test)

88.

Which of the following is true when judging how two variables are related?

A.

In a range of research situations researchers are interested in assessing the relationship between two variables. This type of question is more typically addressed in experiments than in surveys.

B.

In a positive correlation, the higher the level of one variable, the lower the other one is.

C.

A negative correlation would be obtained when one value decreases as the other goes down.

D.

The stronger a correlation, the less scattered the various points are from a straight line on a scatterplot.

89.

Which of the following is NOT an example of bivariate data?

A.

Does the amount of training given improve memory and self-confidence?

B.

How is a positive attitude related to different tests of health?

C.

Is jury size a predictor of guilty outcome?

D.

Is schizophrenia characterized by hearing voices, and seeing things?

90.

Which of the following is NOT an example of univariate hypothesis?

A.

How is weight related to height?

B.

Is an authoritarian personality a predictor of the modern racism scale?

C.

Does stress cause high blood pressure and heart disease?

D.

Is need for cognitive closure linked with good test grades?

91.

We know that descriptive statistics come into play when we describe a set of data or the results of our research. But which of the following is NOT the case?

A.

Measures of central tendency give us a typical value for our data.

B.

The mode is the value that occurs least frequently in a given data set.

C.

The mean is the average value (response) calculated by summing all the values and dividing the total by the number of values.

D.

The median is the value with an equal number of values above and below it. So, if all values are ranked from 1 to N, the median is the (N + 1)/2 if N is odd. If N is even, the median is the mean of the two middle values.

92.

We find that there is a strong, positive correlation between consumption of alcohol and exhibiting aggression. What does this mean?

A.

There is a relationship between consuming alcohol and exhibiting aggression.

B.

Drinking alcohol causes aggressive behaviour

C.

Aggression causes people to drink more

D.

People who had alcoholic and aggressive parents are more likely to drink and be aggressive

93.

True or False: A correlation of -.95 is strong.

94.

Identify any INCORRECT statements from those below:  (please highlight all incorrect answers)

A.

Correlations are usually measured in terms of correlation coefficients.

B.

The most common correlation coefficient is the Pearson product–moment correlation, or Pearson’s r.

C.

An r-value of −1.00 indicates that there is no relationship at all between the measured variables.

D.

An r-value of +1.00 indicates a perfect positive correlation between the variables.

95.

Which of the following is TRUE?

A.

Scientists have their own code of ethics and do not have to work within the limits imposed by society

B.

Ethics codes relate primarily to avoiding risk of harm to research participants

C.

Ethics codes are only concerned with the treatment of humans and not other animals

D.

Ethics codes are created and upheld by each individual scientist

96.

Which of the following about informed consent is FALSE?

A.

Minors must sign their own informed consents before research can begin

B.

Before signing the informed consent the research procedure must be explained to participants

C.

Any risk of harm to participants must be fully explained

D.

Informed consent is not binding, and participants can withdrawal at any time

97.

True or False: It is a psychologist’s responsibility to decide that the benefit of the research will outweigh all possible risks to participants.

98.

A researcher tells a participant that they failed a test, and then asks them, “Why did you do so much worse than everyone else?” Which of the following is a potential harm for this study?

A.

A participant may be unable to answer the question and feel embarrassed

B.

The experimental manipulation of having participants internalize their failure could make them depressed

C.

Your participant may be one of the 1/1000 people who suffer vomiting when presented with a questionnaire

D.

All of the above

99.

True or False: Psychologists who do not plan to become research scientists do not need to learn proper methodological techniques, or understand basic statistics.

100. 

The Milgram study, where people were asked to deliver electric shocks for a learning task, has been attacked for not being ethical. Which statement explains why?

A.

Participants were deceived and so, were not accurately informed of the risks to harm

B.

Participants were clearly uncomfortable

C.

Participants were led to believe that they had severely harmed someone

D.

Participants said they would not participate again when they were debriefed

